Distributivité

3XBO+4)=p o X ¥ X

8X(9+6) = XeeriioeFo e K

2X(2+9) =z Xt X,

OXx(8+8)=ree Xt X,

TX(+7)=r X ¥ X,

4 x(7+10) =X X

DX (3+7) =i XeeooieaFoeeee e K,




Distributivité

10x (10+4) = Xt X,

6X(B+4)= Xt K

OBX(BO+1) = Xt X

2X(DO+6)= X X

6X(3+2)=iiee Xt Ko,

3X(6+10) = Xt X

4 x(2+3)zieeXor¥oe X,




=
Distributivité

TX(1+8)=p X ¥ X,

8X(4+3)=pie Xt X,

Ox(8+9)=o. Xt X

I0X(6+B)= e X X

TX(O+D) = Xe¥o X,

OX(7+7) = XeveoooFoeoo X,

2X(10+2) = Xt X,




Distributivité

8X(3+4)= XeoooraFeeo o K,

3X(AB+9)= Xt X,

OBX(1+6) = Xt X,

4x(BD+8)= X ¥ X,

6x(2+10) = Xt X,

DX (6+7) =i XeeooeeaFoeee e K,

8X(4+2)=iie e XeeooraF oo K,




Distributivité

4x(9+8)=e Xt X,

2X(BO+1) = X ¥ X

6Xx(8+4)= . XeoooFo Ko,

SXBO+7) = X ¥ X,

T X(8+3)=eee Xt X,

Ox(2+4)=co.. XevooooFoe X,

6x(2+1)= X X,




Distributivité

8X(B+4)= XooFiro o K,

2X(3+1) = X ¥ X,

TX(BO+6)=e X X,

SX(7T+2)=iiee X ¥ X,

BX(9+6) = XeooooFeeo o K,

4 X (8+7)=eeee Xt X

Ox(9+1) = X X




Distributivité

8X(2+1)= X X,

DX (7 +3) =i XeroeeaFoee e Koo

2X(3+2) =z Xt X,

6X(B+3)= e Xt K

IX(1+4)= o XeoooooFooo o K,

TX(6+4)= X Ko,

4x(3+4)=rii Xooo¥o X,




Distributivité

Ox(2+1) = X X

3X(3+2) =X X

2X(BO+4)= X F e XK

TX(2+9)= o X X,

IXB+4)= X ¥ X

8X(3+7) =i Xt X,

2X(7+D) = X ¥ X,




Distributivité

4x(2+1)= XeooFo X,

2 X (3+7) T Koot X e

3X(2+8)=iiiee Xt X,

IX(6+4)= X ¥ X

8X(4+3)=iee e XeooraFoeo K,

Ox(2+0)=e Xt X,

10X (3+7)=miece Xt X,




Distributivité

3X(B+4)= X F X

OX(B+7) = X X

3XB+4)= X ¥ X,

2X(3+10) = Xt X,

8X(7T+1)=o X X,

3X(B+D)= i Xt X

4 x(3+8)=rce Xt X,




Distributivité

BX(2+8) =i XeoooeaFoeo e K,

IX(4+2)=e X ¥ X,

6X(4+8)= i Xt K,

TX(2+6)=ee X X,

IXB+4)= X ¥ X

3X(O+7) =i X ¥ X,

2X(7T+6) =i X X




Distributivité

2X(3+4) = Xt X,

DX (6+7) =i Xt Koo

8X(9+10)= .. Xt X,

DX(0+D) =Xt X,

2X(A+6)= i X X

IX(2+6)=n X ¥ X

10X (8 +3) moeeee X X




